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Extension: FTL Case Study, p569 (HJR textbook)
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Question 1.

New Balance Athletic Shoes (UK) Ltd is a US owned company producing a
range of high performance athletic shoes. The business has been
manufacturing in the UK since 1982 and moved o its current site in Flimby,
near Workington, in 1991. New Balance had developed a five year strategic
business plan to increase turnover from £70 million to £250 milfion. In
order fo achieve this, the. manufacturing plant would have to triple the
oulput of the one million pairs of shoes produced in 2005, Land was.
acquired adjacent to the current site to build another factory unit and the.
management team was looking for new ways to increase capacity and
productivity,

The company employed a consultant to un a series of team workshops
with process workers to introduce the basic principles of lean
manufacturing. These teams were then challenged to analyse their current
process, which led to the development of a new cellular layout requiring 35
per cent less space and only four operatives instead of five. The. total work
content was balanced between the four operatives to create product flow
around the cell. Once the cell footprint had been agreed, a new future state
‘ideal’ factory layout was developed to convert freed up space into
additional cells. The switch to lean production Generated a number of
benefits for the company,

© Output increased from 10 to 14 pairs of shoes per person per hour.

* Cell teams reduced from five to four people.

 Thirty five per cent reduction in space taken up by manufacturing cell

* New cells created.

 £1.5 million positive cost variance compared to 2005 manufacturing

costs.

* £1.5 million cost avoidance, as there was no longer any requirement

to build an additional factory.

Source: adapted from www.mas.dfi.gov.uk.

(@) Using this case as an example, explain what is meant by
cell production.

(b) Explain why cell production lends itself well to
teamworking.

(€) How did the introduction of cell production benefit New
Balance Athletic Shoes Ltd?
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Question 2.
Jenx Lid is ane of the UK's longest established companies designing
innovative, therapeutic and development products for children with
spinal problerms. The company wes founded in 1982 and is stil run by
a Paediatric Physiotherapist and her husband. The company sells its
products (o over twenty ‘countries worldwide and is committed to @
continuous process of review and improvement o offer children the.
best products available.
After attending a lean training. ‘workshop in 2005, Mr Jenkins
learned about lean production and the importance of developing an
improvement plan. He could see where this cauld ‘potentially heip his
business to improve, develop and grow. The key objective from the.
outset was 10 involve employees in an improvement programme: that
allowed them to leam how to make and sustain their own
improvements. A team was formed in the machine shop and they were
taught the fundamentals of lean manufacturing. This set the
foundations for implementing a 55 improvement programme i the
machine shop. It was feit that this would help to create a better
working environment, improve. ‘productivity and provide the best way
forward for 2 programme of cliange.
‘s a result of the 15 day 55 Improvement Project, the company
has achieved the following.
« Noticeable change in employee commitment and contribution to
Dbusiness improvement.

 Gross valug added has increased by £60,000, and productivity
by 15 per cent,as a result of the creation of manufacturing
cells.

« Distance travelled to manufacture products has reduced from

80 metres fo 5 metres (93 per cent)

« Manufacturing finishing cells have been developed and lead

fimes have reduced (60 per cent)

» Stock and WIP (work in ‘progress) has reduced.

» |nvestment in a new taliaction system and sawing equipment

has been made.

« Work flow and space utilisation has improved by 20 per cent

Source: adapted from wwww.mas. dii.gov.uk.

(@) Which lean production method may have been used to
reduce stock and WIP?
(b) What is moant by 557

566 | () How did the implementation of 5 help Jenx Ltd?





